
V BP 8
E 821468.539
N 146144.278

V BP 9
E 822318.214
N 145140.597

V BP 10
E 824552.662
N 144487.722

Curva BP 7
R 4842.500
Sv 651.853
Ac 8.569593
Tan 326.420
Fr 10.989

Curva BP 8
R 2500.000
Sv 1233.074
Ac 31.399977
Tan 629.348
Fr 77.999

Curva BP 9
R 5500.000
Sv 396.484
Ac 4.589259
Tan 198.328
Fr 3.575

Clotoide BP 13
A 771.769
Rcl 123.000
AngF -0.808510
m 0.130
Tl 82.001
Tc 41.001
Xf 122.998
Yf 0.521
Ri 0.000
Rf 4842.500

Clotoide BP 14
A 771.769
Rcl 123.000
AngF 0.808510
m 0.130
Tl 82.001
Tc 41.001
Xf 122.998
Yf 0.521
Ri 4842.500
Rf 0.000

Clotoide BP 15
A 753.326
Rcl 227.000
AngF 2.890254
m 0.859
Tl 151.350
Tc 75.682
Xf 226.953
Yf 3.435
Ri 0.000
Rf 2500.000

Clotoide BP 16
A 753.326
Rcl 227.000
AngF -2.890254
m 0.859
Tl 151.350
Tc 75.682
Xf 226.953
Yf 3.435
Ri 2500.000
Rf 0.000

Clotoide BP 17
A 1005.982
Rcl 184.000
AngF 1.064891
m 0.257
Tl 122.668
Tc 61.335
Xf 183.995
Yf 1.026
Ri 0.000
Rf 5500.000

Clotoide BP 18
A 1005.982
Rcl 184.000
AngF -1.064891
m 0.257
Tl 122.668
Tc 61.335
Xf 183.995
Yf 1.026
Ri 5500.000
Rf 0.000
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V BD 8
E 821471.532
N 146147.244

V BD 9
E 822320.249
N 145144.691

V BD 10
E 824553.696
N 144492.108

Curva BD 7
R 4846.700
Sv 652.438
Ac 8.569844
Tan 326.712
Fr 10.999

Curva BD 8
R 2495.800
Sv 1252.730
Ac 31.954178
Tan 639.855
Fr 80.716

Curva BD 9
R 5495.500
Sv 396.077
Ac 4.588308
Tan 198.124
Fr 3.570

Clotoide BD 13
A 772.314
Rcl 123.067
AngF -0.808251
m 0.130
Tl 82.045
Tc 41.023
Xf 123.065
Yf 0.521
Ri 0.000
Rf 4846.700

Clotoide BD 14
A 772.510
Rcl 123.129
AngF 0.808660
m 0.130
Tl 82.087
Tc 41.044
Xf 123.127
Yf 0.521
Ri 4846.700
Rf 0.000

Clotoide BD 15
A 752.425
Rcl 226.838
AngF 2.893053
m 0.859
Tl 151.242
Tc 75.628
Xf 226.791
Yf 3.436
Ri 0.000
Rf 2495.800

Clotoide BD 16
A 675.739
Rcl 182.956
AngF -2.333393
m 0.559
Tl 121.980
Tc 60.993
Xf 182.932
Yf 2.235
Ri 2495.800
Rf 0.000

Clotoide BD 17
A 1005.383
Rcl 183.932
AngF 1.065367
m 0.257
Tl 122.623
Tc 61.312
Xf 183.926
Yf 1.026
Ri 0.000
Rf 5495.500

Clotoide BD 18
A 1005.383
Rcl 183.932
AngF -1.065367
m 0.257
Tl 122.623
Tc 61.312
Xf 183.926
Yf 1.026
Ri 5495.500
Rf 0.000
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